

Available online at www.sciencedirect.com



JOURNAL OF GEOMETRY AND PHYSICS

Journal of Geometry and Physics 53 (2005) 336-344

www.elsevier.com/locate/jgp

On the volume and Gauss map image of spacelike submanifolds in de Sitter space form

Wu BingYe^{a,b,*}

^a Department of Mathematics, Zhejiang Normal University, Jinhua, Zhejiang 321004, PR China
 ^b Institute of Mathematics, Fudan University, Shanghai 200433, PR China

Received 22 April 2004; received in revised form 29 June 2004; accepted 9 July 2004 Available online 23 August 2004

Abstract

In this paper we use Gauss map to study spacelike submanifolds in de Sitter space form. We prove that if there exist $\rho > 0$ and a fixed unit simple (n + 1)-vector $a \in G_{n+1,p}^{p}$ such that the Gauss map g of an *n*-dimensional complete and connected spacelike submanifold M^{n} in S_{p}^{n+p} satisfies $\langle g, a \rangle \leq \rho$, then M^{n} is diffeomorphic to S^{n} , and its volume satisfies $vol(S^{n})/\rho \leq vol(\mathbf{M}) \leq \rho^{n}vol(S^{n})$. We also characterize the case where these inequalities become equalities. @ 2004 Elsevier B.V. All rights reserved.

MSC: Primary 53C42; Secondary 53B30, 53C50

Keywords: de Sitter space form; Spacelike submanifold; Gauss map; Volume; Pseudo-Grassmannian

1. The main result

Let R_p^{n+p+1} be the (n + p + 1)-dimensional connected pseudo-Euclidean space with index p, that is, the real vector space R^{n+p+1} endowed with the pseudo-Euclidean metric

^{*} Tel.: +86 5792396482.

E-mail address: wby@mail.zjnu.net.cn.

 $^{0393\}text{-}0440 / \$ - see$ front matter @ 2004 Elsevier B.V. All rights reserved. doi:10.1016/j.geomphys.2004.07.003

tensor \langle, \rangle given by

$$\langle v, w \rangle = \sum_{i=1}^{n+1} v_i w_i - \sum_{\alpha=n+2}^{n+p+1} v_{\alpha} w_{\alpha},$$

and let S_p^{n+p} be the (n + p)-dimensional de Sitter space form with index p, that is,

$$S_p^{n+p} = \{ x \in \mathbb{R}_p^{n+p+1} : \langle x, x \rangle = 1 \}.$$

A smooth immersion $\psi: M^n \to S_p^{n+p}$ of an *n*-dimensional connected manifold M^n is said to be a spacelike submanifold if the induced metric via ψ is a Riemannian metric on M^n . As is usual, the spacelike submanifold is said to be complete if the Riemannian induced metric is a complete metric on M^n .

Recently Aledo and Alías [1] used Gauss map image to study the topology and volume of complete spacelike hypersurfaces in de Sitter space and proved that a complete spacelike hypersurface M^n in de Sitter space whose image under the Gauss map is contained in a hyperbolic geodesic ball of radius ρ is necessarily compact and its volume satisfies $vol(S^n)/\cosh \rho \le vol(M^n) \le vol(S^n)\cosh^n \rho$. They also characterized the case where these inequalities become equalities. The main aim of this paper is to consider the similar problem in higher codimension. More precisely, we shall prove the following.

Main Theorem. Let $\psi: M^n \to S_p^{n+p} \subset R_p^{n+p+1}$ be an n-dimensional complete spacelike submanifold in de Sitter space form S_p^{n+p} . If there exist $\rho > 0$ and a fixed unit simple (n + 1)-vector $a \in G_{n+1,p}^p$ such that the Gauss map g of ψ satisfies $\langle g, a \rangle \leq \rho$, then M^n is diffeomorphic to S^n , and the volume of M^n satisfies

$$\operatorname{vol}(S^n)/\rho \le \operatorname{vol}(M^n) \le \rho^n \operatorname{vol}(S^n).$$
 (1)

Moreover, $vol(M^n) = \rho^n vol(S^n)$ if and only if $\psi(M^n)$ is a totally umbilical n-sphere with radius ρ , while $vol(M^n) = vol(S^n)/\rho$ if and only if $\rho = 1$, and $\psi(M^n)$ is a totally geodesic *n*-sphere.

We shall prove the Main Theorem in Section 3, here we give some simple applications as following.

Corollary 1. The only complete spacelike surfaces (n = 2) with parallel mean curvature in de Sitter space S_p^{2+p} whose Gauss map is bounded are the umbilical 2-spheres.

Proof. From the Main Theorem we know that the surface is in fact compact. The result then follows from Theorem 5.3 in [2] or Corollary 9 in [3]. \Box

Corollary 2. Let M^n be a complete spacelike n-submanifold with parallel mean curvature in de Sitter space S_p^{n+p} whose Gauss map is bounded. If the normal connection of M^n is flat, then M^n is a totally umbilical n-sphere.

Proof. From the Main Theorem we know that the submanifold is in fact compact. The result then follows from Theorem 3 in [3]. \Box

2. The geometry of pseudo-Grassmannian

In this section we review some basic properties about the geometry of pseudo-Grassmannian. For details one is referred to see [5,6].

Let R_p^{n+p+1} be the (n + p + 1)-dimensional pseudo-Euclidean space with index p, where, for simplicity, we assume that $n \ge p$. The case n < p can be treated similarly. We choose a pseudo-Euclidean frame field $\{e_1, \ldots, e_{n+p+1}\}$ such that the pseudo-Euclidean metric of R_p^{n+p+1} is given by $ds^2 = \sum_i (\omega_i)^2 - \sum_{\alpha} (\omega_{\alpha})^2 = \sum_A \varepsilon_A (\omega_A)^2$, where $\{\omega_1, \ldots, \omega_{n+p+1}\}$ is the dual frame field of $\{e_1, \ldots, e_{n+p+1}\}$, $\varepsilon_i = 1$ and $\varepsilon_{\alpha} = -1$. Here and in the following we shall use the following convention on the ranges of indices:

 $1 \le i, j, \dots \le n+1; \qquad n+2 \le \alpha, \beta, \dots \le n+p+1;$ $1 \le A, B, \dots \le n+p+1.$

The structure equations of R_p^{n+p+1} are given by

$$de_{A} = -\sum_{B} \varepsilon_{A} \omega_{AB} e_{B},$$

$$d\omega_{A} = -\sum_{B} \varepsilon_{B} \omega_{AB} \wedge \omega_{B}, \quad \omega_{AB} + \omega_{BA} = 0,$$

$$d\omega_{AB} = -\sum_{C} \varepsilon_{C} \omega_{AC} \wedge \omega_{CB}.$$

Let $G_{n+1,p}^p$ be the pseudo-Grassmannian of all spacelike (n + 1)-subspace in R_p^{n+p+1} , and $\tilde{G}_{n+1,p}^p$ the pseudo-Grassmannian of all timelike *p*-subspace in R_p^{n+p+1} . They are specific Cartan–Hadamard manifolds, and the canonical Riemannian metric on $G_{n+1,p}^p$ and $\tilde{G}_{n+1,p}^p$ is

$$ds_G^2 = ds_{\tilde{G}}^2 = \sum_{\alpha,i} (\omega_{\alpha i})^2.$$

Let 0 be the origin of R_p^{n+p+1} . Let $SO^0(n + p + 1, p)$ denote the identity component of the Lorentzian group O(n + p + 1, p). $SO^0(n + p + 1, p)$ can be viewed as the manifold consisting of all pseudo-Euclidean frames $(0; e_i, e_\alpha)$, and $SO^0(n + p + 1, p)/SO(n + 1) \times$ SO(p) can be viewed as $G_{n+1,p}^p$ or $\tilde{G}_{n+1,p}^p$. Any element in $G_{n+1,p}^p$ can be represented by a unit simple (n + 1)-vector $e_1 \wedge \cdots \wedge e_{n+1}$, while any element in $\tilde{G}_{n+1,p}^p$ can be represented by a unit simple *p*-vector $e_{n+2} \wedge \cdots \wedge e_{n+p+1}$. They are unique up to an action of $SO(n + 1) \times$ SO(p). The Hodge star operator "*" provides a one to one correspondence between $G_{n+1,p}^p$ and $\tilde{G}_{n+1,p}^p$. The product \langle, \rangle on $G_{n+1,p}^p$ for $e_1 \wedge \cdots \wedge e_{n+1}, v_1 \wedge \cdots \wedge v_{n+1} \in$

 $G_{n+1,p}^{p}$ is defined by

$$\langle e_1 \wedge \cdots \wedge e_{n+1}, v_1 \wedge \cdots \wedge v_{n+1} \rangle = \det(\langle e_i, v_j \rangle).$$

The product on $\tilde{G}_{n+1,n}^p$ can be defined similarly.

Now we fix a standard pseudo-Euclidean frame $\{e_i, e_\alpha\}$ for R_p^{n+p+1} , and take $g_0 = e_1 \wedge \cdots \wedge e_{n+1} \in G_{n+1,p}^p$, $\tilde{g}_0 = *g_0 = e_{n+2} \wedge \cdots \wedge e_{n+p+1} \in \tilde{G}_{n+1,p}^p$. Then we can span the spacelike (n + 1)-subspace g in a neighborhood of g_0 by n + 1 spacelike vectors f_i :

$$f_i = e_i + \sum_{\alpha} z_{i\alpha} e_{\alpha},$$

where $(z_{i\alpha})$ are the local coordinates of g. By an action of $SO(n + 1) \times SO(p)$ we can assume that

$$(z_{i\alpha}) = \begin{pmatrix} \mu_1 & & \\ & \ddots & \\ & & \mu_p \\ & 0 \end{pmatrix}.$$

From [6] we know that the normal geodesic g(t) between g_0 and g has local coordinates

$$(z_{i\alpha}(t)) = \begin{pmatrix} \tanh(\lambda_1 t) & & \\ & \ddots & \\ & & \tanh(\lambda_p t) \\ & & 0 \end{pmatrix}$$

for real numbers $\lambda_1, \lambda_2, \ldots, \lambda_p$ such that $\sum_{i=1}^p \lambda_i^2 = 1$. This means that g(t) is spanned by

$$f_1(t) = e_1 + \tanh(\lambda_1 t)e_{n+2}, \dots, \ f_p(t) = e_p + \tanh(\lambda_p t)e_{n+p+1},$$

$$f_{p+1} = e_{p+1}, \ldots, f_{n+1} = e_{n+1}.$$

Consequently, g(t) can also be represented by a unit simple (n + 1)-vector as following:

$$g(t) = (\cosh(\lambda_1 t)e_1 + \sinh(\lambda_1 t)e_{n+2}) \wedge \dots \wedge (\cosh(\lambda_p t)e_p + \sinh(\lambda_p t)e_{n+p+1}) \wedge e_{p+1} \wedge \dots \wedge e_{n+1}.$$

Set $\lambda_{\alpha} = \lambda_{\alpha-n-1}$, then it is clear that $\cosh(\lambda_1 t)e_1 + \sinh(\lambda_1 t)e_{n+2}, \ldots, \cosh(\lambda_p t)e_p + \sinh(\lambda_p t)e_{n+p+1}, e_{p+1}, \ldots, e_{n+1}, \sinh(\lambda_{n+2} t)e_1 + \cosh(\lambda_{n+2} t)e_{n+2}, \ldots, \sinh(\lambda_{n+p+1} t)e_p + \cosh(\lambda_{n+p+1} t)e_{n+p+1}$ is again a pseudo-Euclidean frame for R_p^{n+p+1} , so we have

$$\tilde{g}(t) = *g(t) = (\sinh(\lambda_{n+2}t)e_1 + \cosh(\lambda_{n+2}t)e_{n+2})$$

Wu BingYe / Journal of Geometry and Physics 53 (2005) 336-344

$$\wedge \cdots \wedge (\sinh(\lambda_{n+p+1}t)e_p + \cosh(\lambda_{n+p+1}t)e_{n+p+1}) \in \tilde{G}_{n+1,p}^p.$$

Thus we have

$$\langle g_0, g(t) \rangle = (-1)^p \langle *g_0, *g(t) \rangle = (-1)^p \langle \tilde{g}_0, \tilde{g}(t) \rangle = \prod_{\alpha} \cosh(\lambda_{\alpha} t).$$

3. The proof of theorem

We shall complete the proof of theorem in this section. Let $\psi: M^n \to S_p^{n+p} \subset R_p^{n+p+1}$ be an *n*-dimensional complete spacelike submanifold in de Sitter space form S_p^{n+p} , and e_1, \ldots, e_{n+p+1} the local pseudo-Euclidean frame field of R_p^{n+p+1} along ψ such that, when restricted on M^n , e_1, \ldots, e_n are tangent to M^n and $e_{n+1} = \psi$ is the position vector of M^n . The Gauss map $g: M^n \to G_{n+1,p}^p$ is locally defined by $g = e_1 \wedge \cdots \wedge e_{n+1}$. In the following we shall also consider the map $\tilde{G} = *g = e_{n+2} \wedge \cdots \wedge e_{n+p+1} : M^n \to \tilde{G}_{n+1,p}^p$. Now we assume that there exist $\rho > 0$ and a unit simple (n + 1)-vector $a = a_1 \wedge \cdots \wedge a_{n+1} \in G_{n+1,p}^p$ such that the Gauss map g satisfies $\langle g, a \rangle = \det(\langle e_i, a_j \rangle) \leq \rho$. We extend a_1, \ldots, a_{n+1} to a pseudo-Euclidean frame a_1, \ldots, a_{n+p+1} of R_p^{n+p+1} , and define the projection $\Pi : M^n \to S_a^n$ by

$$\Pi(p) = \frac{1}{\sqrt{1 + \sum_{\alpha} \langle \psi(p), a_{\alpha} \rangle^2}} (\psi(p) + \sum_{\alpha} \langle \psi(p), a_{\alpha} \rangle a_{\alpha}), \forall p \in M^n,$$
(2)

where

$$S_a^n = \{x \in S_p^{n+p} : \langle x, a_\alpha \rangle = 0, n+2 \le \alpha \le n+p+1\}$$

is the totally geodesic n-sphere determined by a. A straightforward computation shows that

$$d\Pi(X) = \frac{1}{\sqrt{1 + \sum_{\alpha} \langle \psi, a_{\alpha} \rangle^{2}}} X + \frac{1}{(1 + \sum_{\alpha} \langle \psi, a_{\alpha} \rangle^{2})^{3/2}} \\ \times \left[\sum_{\alpha} (\langle X, a_{\alpha} \rangle + \sum_{\beta} \langle \psi, a_{\beta} \rangle^{2} \langle X, a_{\alpha} \rangle - \sum_{\beta} \langle X, a_{\beta} \rangle \langle \psi, a_{\beta} \rangle \langle \psi, a_{\alpha} \rangle) a_{\alpha} - \sum_{\alpha} \langle \psi, a_{\alpha} \rangle \langle X, a_{\alpha} \rangle \psi \right]$$
(3)

for every tangent field X on M^n , and consequently,

$$| d\Pi(X) |^{2} = \frac{|X|^{2}}{1 + \sum_{\alpha} \langle \psi, a_{\alpha} \rangle^{2}} + \frac{1}{(1 + \sum_{\alpha} \langle \psi, a_{\alpha} \rangle^{2})^{2}} \\ \times \left\{ \sum_{\alpha} \langle X, a_{\alpha} \rangle^{2} + \sum_{\alpha, \beta} (\langle X, a_{\alpha} \rangle^{2} \langle \psi, a_{\beta} \rangle^{2} \\ - \langle X, a_{\alpha} \rangle \langle \psi, a_{\alpha} \rangle \langle X, a_{\beta} \rangle \langle \psi, a_{\beta} \rangle) \right\} \\ = \frac{|X|^{2}}{1 + \sum_{\alpha} \langle \psi, a_{\alpha} \rangle^{2}} + \frac{1}{(1 + \sum_{\alpha} \langle \psi, a_{\alpha} \rangle^{2})^{2}} \\ \times \left\{ \sum_{\alpha} \langle X, a_{\alpha} \rangle^{2} + \sum_{\alpha < \beta} \langle X \land \psi, a_{\alpha} \land a_{\beta} \rangle^{2} \right\}.$$
(4)

From Section 2 we know that by an action of $SO(n + 1) \times SO(p)$ we can assume that $e_{\alpha} = \cosh(\lambda_{\alpha}t)a_{\alpha} + \sinh(\lambda_{\alpha}t)a_{\alpha-n-1}$ so that

$$\langle g, a \rangle = (-1)^{p} \langle \tilde{G}, \tilde{a} \rangle = (-1)^{p} \langle e_{n+2} \wedge \dots \wedge e_{n+p+1}, a_{n+2} \wedge \dots \wedge a_{n+p+1} \rangle$$
$$= \prod_{\alpha} \cosh(\lambda_{\alpha} t), \tag{5}$$

where $\sum_{\alpha} \lambda_{\alpha}^2 = 1$ and $t \in R$. Write

$$a_{\alpha} = a_{\alpha}^{T} + \langle a_{\alpha}, \psi \rangle \psi - \sum_{\beta} \langle a_{\alpha}, e_{\beta} \rangle e_{\beta},$$

where a_{α}^{T} denotes the component of a_{α} which is tangent to M^{n} . Since a_{α} is a unit timelike vector for all α , we have

$$-1 = |a_{\alpha}^{T}|^{2} + \langle a_{\alpha}, \psi \rangle^{2} - \sum_{\beta} \langle a_{\alpha}, e_{\beta} \rangle^{2}$$

and so,

$$1 + \sum_{\alpha} \langle \psi, a_{\alpha} \rangle^{2} = \sum_{\alpha, \beta} \langle a_{\alpha}, e_{\beta} \rangle^{2} - \sum_{\alpha} |a_{\alpha}^{T}|^{2} - p + 1 \leq \sum_{\alpha} \cosh^{2}(\lambda_{\alpha}t) - p + 1.$$
(6)

In order to estimate the quantity $\sum_{\alpha} \cosh^2(\lambda_{\alpha} t)$ we need the following.

Lemma. Let $\mu_{n+2} \ge 1, \ldots, \mu_{n+p+1} \ge 1$ and $\prod_{\alpha} \mu_{\alpha} = C$. Then $\sum_{\alpha} \mu_{\alpha}^2 \le C^2 + p - 1$, and the equality holds if and only if $\mu_{\alpha_0} = C$ for some $n + 2 \le \alpha_0 \le n + p + 1$ and $\mu_{\alpha} = 1$ for any $\alpha \ne \alpha_0$.

Proof. The lemma is trivial for C = 1. So we assume that C > 1. Without loss of generality, we can assume that $\mu_{n+2} \ge \cdots \ge \mu_{n+1+s} > 1$, $\mu_{n+2+s} = \cdots = \mu_{n+p+1} = 1$ and $\mu_{n+2} \cdots \mu_{n+1+s} = C$, here $1 \le s \le p$. Let us maximize

$$f(\mu_{n+2},\ldots,\mu_{n+1+s}) = \sum_{\alpha=n+2}^{n+1+s} \mu_{\alpha}^2.$$

Let

$$F(\mu_{n+2},\ldots,\mu_{n+1+s},\mu) = \sum_{\alpha=n+2}^{n+1+s} \mu_{\alpha}^2 + \mu(C - \mu_{n+2}\cdots\mu_{n+1+s}),$$

where μ is a Langrange multiplier. Then at a critical point of f one has

$$0 = F_{\mu_{\alpha}} = 2\mu_{\alpha} - \mu\mu_{n+2} \cdots \mu_{\alpha-1}\mu_{\alpha+1} \cdots \mu_{n+1+s}, \quad n+2 \le \alpha \le n+1+s$$

which implies that

$$2\mu_{\alpha}^2 = \mu\mu_{n+2}\cdots\mu_{n+1+s} = C\mu.$$

Thus at the critical point one has $\mu_{n+2} = \cdots = \mu_{n+1+s} = C^{1/s}$, and the corresponding critical value of f is $s \cdot C^{2/s}$. It is easy to see from mathematical analysis that $s \cdot C^{2/s} + p - s$ is monotone decreasing in s, so we have $\sum_{\alpha} \mu_{\alpha}^2 \leq C^2 + p - 1$, and the equality holds if and only if $\mu_{n+2} = C$, $\mu_{n+3} = \cdots = \mu_{n+p+1} = 1$.

Now from lemma, (4)–(6) and the assumption that $\langle g, a \rangle \leq \rho$, we conclude that

$$| d\Pi(X) |^{2} \ge \frac{|X|^{2}}{\langle g, a \rangle^{2}} \ge \frac{|X|^{2}}{\rho^{2}}.$$
(7)

It follows from (7) that Π is a local diffeomorphism. Since \langle , \rangle is a complete Riemannian metric on M^n , the same holds for the homothetic metric $\widetilde{\langle , \rangle} = \langle , \rangle / \rho^2$. Then, (7) means that the map

$$\Pi: (M^n, \langle, \rangle) \to (S^n_a, \langle, \rangle)$$

increases the distance. If a map, from a connected complete Riemannian manifold M_1 into another Riemannian manifold M_2 of the same dimension, increases the distance, then it is a covering map and M_2 is complete [4, VIII, Lemma 8.1]. Hence Π is a covering map, but S_a^n being simply connected this means that Π is in fact a global diffeomorphism between M^n and S_a^n . Hence, M^n is diffeomorphic to S^n .

Now we want to prove (1). Using the diffeomorphism $\Pi: M^n \to S_a^n$ we know that

$$\operatorname{vol}(S^n) = \int_{S^n_a} \mathrm{d}S = \int_{M^n} \Pi^*(\mathrm{d}S),\tag{8}$$

where dS stands for the volume element of S_a^n . From (2) and (3) it follows that

$$\begin{aligned} \Pi^*(\mathrm{d}S)(X_1, \dots, X_n) \\ &= \det(\mathrm{d}\Pi(X_1), \dots, \mathrm{d}\Pi(X_n), a_{n+2}, \dots, a_{n+p+1}, \Pi) \\ &= \frac{1}{(1 + \sum_{\alpha} \langle \psi, a_{\alpha} \rangle^2)^{(n+1)/2}} \det(X_1, \dots, X_n, a_{n+2}, \dots, a_{n+p+1}, \psi) \\ &= \frac{(-1)^p \langle \tilde{g}, \tilde{a} \rangle}{(1 + \sum_{\alpha} \langle \psi, a_{\alpha} \rangle^2)^{(n+1)/2}} \det(X_1, \dots, X_n, e_{n+2}, \dots, e_{n+p+1}, \psi) \\ &= \frac{\langle g, a \rangle}{(1 + \sum_{\alpha} \langle \psi, a_{\alpha} \rangle^2)^{(n+1)/2}} \mathrm{d}M(X_1, \dots, X_n) \end{aligned}$$

for tangent vector fields X_1, \ldots, X_n of M^n , where dM is the volume element of M^n . In other words,

$$\Pi^*(\mathrm{d}S) = \frac{\langle g, a \rangle}{(1 + \sum_{\alpha} \langle \psi, a_{\alpha} \rangle^2)^{(n+1)/2}} \mathrm{d}M.$$
⁽⁹⁾

From (5), (6), (8), and (9) and the lemma we see that

$$\operatorname{vol}(S^n) = \int_{M^n} \frac{\langle g, a \rangle}{(1 + \sum_{\alpha} \langle \psi, a_{\alpha} \rangle^2)^{(n+1)/2}} \mathrm{d}M \ge \int_{M^n} \frac{1}{\langle g, a \rangle^n} \mathrm{d}M \ge \int_{M^n} \frac{1}{\rho^n} \mathrm{d}M$$
$$= \frac{1}{\rho^n} \operatorname{vol}(M^n),$$

and so $vol(M^n) \le \rho^n vol(S^n)$, and if the equality holds, then $a_{\alpha}^T = 0$ for all α , thus $\langle \psi, a_{\alpha} \rangle =$ constant for all α . It is easy to see that M^n is a totally umbilical *n*-sphere with radius ρ . Conversely, if M^n is a totally umbilical *n*-sphere with radius ρ , we certainly have $vol(M^n) = \rho^n vol(S^n)$. Similarly,

$$\operatorname{vol}(S^n) = \int_{M^n} \frac{\langle g, a \rangle}{(1 + \sum_{\alpha} \langle \psi, a_{\alpha} \rangle^2)^{(n+1)/2}} \mathrm{d}M \le \int_{M^n} \langle g, a \rangle \mathrm{d}M \le \rho \operatorname{vol}(M^n),$$

so $\operatorname{vol}(M^n) \ge \operatorname{vol}(S^n)/\rho$, and the equality holds if and only if $\langle \psi, a_\alpha \rangle = 0$ for all α and $\langle g, a \rangle = \rho$. Thus M^n is a totally geodesic *n*-sphere and $\rho = 1$, and the theorem is proved.

Acknowledgements

This work was accomplished during the author's post-doctor period in Institute of Mathematics, Fudan University. He would like to express his sincere thanks to Professor Xin Yuan-Long for many valuable discussions on this work. Also, he would like to thank the referee whose valuable suggestions make this paper more perfect.

References

- J.A. Aledo, L.J. Alías, On the volume and the Gauss map image of spacelike hypersurfaces in de Sitter space, Proc. AMS 130 (2002) 1145–1151.
- [2] L.J. Alías, A. Romero, Integral formulas for compact spacelike *n*-submanifolds in de Sitter spaces, applications to the parallel mean curvature vector case, Manuscripta Math. 87 (1995) 405–416.
- [3] R. Aiyama, Compact space-like *m*-submanifolds in a pseudo-Riemannian sphere $S_p^{n+p}(c)$, Tokyo J. Math. 18 (1995) 81–90.
- [4] S. Kobayashi, K. Nomizu, Foundations of Differential Geometry, vol II, Interscience, New York, 1969.
- [5] Y.L. Xin, A rigidity theorem for a spacelike graph of higher codimension, Manu. Math. 103 (2000) 191–202.
- [6] Y.C. Wong, Euclidean n-space in pseudo-Euclidean spaces and differential geometry of Cartan domain, Bull. AMS 75 (1969) 409–414.